I. [bookmark: _GoBack]Impossibility
a. Paradine v. Jane (1647—Not a case from case packet, orally given by prof. Telman)
i. Paradine rented land to Jane in British Civil way. 
ii. Army was living off the land
iii. Jane wanted out of the contract because he was not getting any benefit because the arm was using it.
iv. The fact that the army was using the land was not an excuse of performance, either because the contract liability was very strict back then or because the court did not believe that Jane was completely unable to use the land
v. Court says to Jane=you should have put in a clause that you would pay unless land was useless
vi. Force Majeure ClauseAct of God clause, 
1. In case of unforeseen circumstances contract will be voided. 
b. Taylor v. Caldwell (another case given by Telman)
i. Taylor wanted to rent gardens to Caldwell for amusement purposes
ii. The gardens burned down and Taylor wanted to recover costs in reliance damages
iii. Can’t get expectation damages because they are too speculative on how many people the performance would have had. 
iv. Court says=Caldwell is excused because it is impossible to have the contract because the gardens burned down. 
v. Implied provision for excuse of impossibility resultCaldwell doesn’t need to pay Taylor’s expenses
c. TAKE AWAY FROM CASES
i. Impossibility is when something renders performance of contract impossible. 
II. Frustration of Purpose
a. Krell v. Henry
i. Contract was for rental of flat to view the coronation
ii. King was sick and didn’t have coronation 
iii. Frustration of Purpose
1. Used by the PARTY TO BE OWED.
2. Must show:
a. Foundation of contract
b. Performance was prevented by non-occurrence of that condition
c. Non-occurrence was not contemplated by the parties. 
iv. No benefit was conveyed upon Krell, thereforeNO RESTITUTION
v. Krell would not be harmed if Henry was let out of the contract, but henry could come back and watch the coronation and would then have to pay twice.
b. Modern Restatement §265
i. Event occurs that substantially frustrates a party’s purpose in entering contract.
ii. The parties had a basic assumption that the event wouldn’t occur
iii. Performance excused if party seeking excuse not at fault and does not bear risk. 
III. Impracticability
a. DefinitionI owe performance but I should have to follow through because it’s really hard to do so. 
b. Restatement §261
i. If an event occurs that renders performance impracticable,
ii. AND the parties had a basic assumption that the event would not occur,
iii. THEN performance is excused if the party seeking excuse was not at fault and does not bear the risk.
c. UCC §2-615
i. Seems only to apply to sellers. 
ii. Seller may assume obligations and thus waive the defense by contract
iii. Creates explicit impracticability defense based on government regulation
iv. NIPSCO tried to rely on this but they are a buyer and not a seller
v. Seller may allocate production in a fair and reasonable manner
1. Partially fulfill all contracts until production is able to fulfill all requirements. 
d. TransAtlantic v. U.S.
i. K for transport of goods up the Suez
ii. K was for the voyage not the route
iii. TransAtlantic bring claim after seeing Suez was closed, then performed, and got paid, and still brought the claim after. 
iv. Was there an unexpected event?
1. Yes, couldn’t get through the canal
v. Risk allocation? 
1. Seems risk was more likely to be allocated to TransAtlantic
2. Could have gotten insurance against unforeseen circumstances
vi. Renders performance impracticable?
1. Impracticability doesn’t kick in every time there is an unexpected increase in costs. 
2. TransAtlantic could have insured against this contingency.
e. Skelly Wright
i. Impossibility doctrine expanded to encompass impracticability
1. Needs three elements:
a. Unexpected even occurred
b. Risk not allocated to party seeking excuse of performance
c. Unexpected event renders performance commercially impracticable
ii. Skelly Wright doesn’t like impracticability because the amount is so little and doesn’t want to imply it here.
1. He is worried people will want out of contracts because of costs being too high. 
f. Remedy for impracticability
i. Avoid contract
ii. BUT TransAtlantic completed performance so no quantum meruit because you have also been paid for it
iii. Performance is not excused, too late for impracticability.
g. NIPSCO v. Carbon County Coal Company (both impracticability and frustration of purpose)
i. NIPSCO to buy 1.5 million tons of coal for 20 years at $24/ton subject to escalation
1. Increase to $44/ton
ii. NIPSCO found that they could buy electricity from somewhere else rather than producing it themselves. 
iii. Requirements Contract
1. A contract where seller agrees to provide all items to buyer that the buyer needs.
2. This casenot a requirements contract should be if NIPSCO wanted to do it this way. NIPSCO must buy 1.5 MM tons, whether it needs to or not.
iv. Carbon County was awarded $181 million but appealed because they wanted specific performance.
v. NIPSCO wanted out of the contract for impracticability and frustration of purpose. 
vi. Judge Posner: Doctrine is really about assignment of risk-§2-615
1. It’s rarely impracticable for the buyer to pay, but his purpose might be frustrated.
2. NIPSCO’s purpose was not frustrated and they assumed the risk by bargaining for the price terms in contract because they agreed to the escalation of price. 
a. So it doesn’t matter whether their purpose was frustrated or impracticable. 
IV. Repudiation
a. Sackett v. Spindler
i. Plaintiff to make 3 payments to complete the K. 
ii. 3rd check was denied. 
iii. 2nd payment was late but there is remedy for the breach but not actionable
iv. 3rd payment denied check-curable if he brought the money but he did not. 
v. Was the breach total or partial?
1. Was the breach material? 
a. Yes
2. R.2d §241 multifactor test
vi. Did Spindler repudiate on October 5?
1. Yes, by letting him pay cash only but then with-draws 
2. If so, he did so in response to Sackett’s breach
3. In any case, the repudiation was retracted when he offered to accept cash.
b. Anticipatory Repudiation
i. §2-610: aggrieved party has choice of remedies
ii. §2-611: repudiation can be retracted if aggrieved party has not changed its position
iii. If in doubt, aggrieved party can demand assurances if reasonable to do so. 
iv. If you know other party will breach K, you may repudiate and may sue before date of start for contract. 
v. UCC §2-609: WRITTEN assurances if in doubt of breach
vi. R.2d § 251
vii. CISG Articles 71 & 72
1. Can withdraw repudiation as long as no reliance on repudiation.
V. Substantial Performance
a. Jacobs & Young v. Kent
i. Pipe was Cohoe not Readingwanted it to be redone but too expensive
ii. Pipes have different stamps on them
iii. Cardozo=Negligent for not checking pipes.
iv. Can’t be a willful mistake, here is mistake is excusable 
v. Conditions for substantial performance?
1. Incomplete performance
2. Not intentional nor willful (“no license to install whatever is just as good”)
3. Does not frustrate purpose of contract.
b. Restatement on Substantial Performance §241
i. Was the failure material?
ii. Was injured party deprived of a benefit that they reasonably expected?
iii. Is adequate compensation possible?
iv. Will non-performing party suffer forfeiture?
v. Is cure likely?
c. Restatement §240
i. Recovery in quantum meruit permitted if K can be apportioned
d. Remedy 
i. Standard remedycost of completion
ii. BUT in this case the measure is the difference in value because completion is grossly and unfairly out of proportion to the good to be attained.
iii. What is the difference between Reading pipes and Cohoe pipes?	
1. Nothing, so no remedy
VI. Damages
a. Peevyhouse v. Garland Coal and Mining
i. Peevy leased land to Garland as long as they returned house to prior state
ii. Problem occurred when cost of damages are more than the property is worth
iii. OLD RESTATEMENT §346:
1. Cost of completion is ordinary measure of damages
2. Unless that involves unreasonable economic waste
3. What is economic waste?
a. Since land is only worth $300, its waste to spend $30,000 to fix it. 
4. Alternative formulation
a. Costs of completion must not be grossly disproportionate to the results to be obtained.
iv. Where a coal-mining contract is fully performed except for reedial work
b. Measure of cost for damages of breach
i. Reasonable cost of performance, UNLESS
ii. Contract provision breached is incidental to main purpose AND,
iii. Economic benefit of full performance is grossly disproportionate to cost of performance
iv. THEN, measure of damages is diminution of value. 
c. Central issue:
i. Whether or not the pipes term was a promise or an implied condition
ii. Cardozo:
1. We don’t want to imply a condition where it will lead to a forfeiture
2. Here, work not completed amounted to less than 10% of the total
iii. Was the non-performance willful?
1. Court says no
d. Evergreen Amusement Co. v. Milstead
i. Opening of theater was delayed because Milstead was late to finish.
ii. The New Business Rule:
1. If you are new business, then you cannot recover lost profitstoo speculative
iii. Does Maryland Ct. follow the NBR? 
1. No, but in the end, yes—in a way.
iv. What was the nature of the evidence?
1. An expert in the industry, proof that the first years profits are the same in the second year. 
v. General rule on lost profits
1. Profits are recoverable IF:
a. Within the contemplation of the parties
b. The loss flows directly or proximately from the breach
c. The loss is reasonable measurable or estimable
2. What about new business
a. R.2d §352
e. Restatement §347
i. Loss in value to injured party caused by the other party’s failure to perform
ii. Plus incidental or consequential loss caused by the breach
1. Incidental
a. Costs you might incur because of the breach
2. But K damages must be readily calculable and not speculative
iii. Minus cost or loss avoided by not having to perform. 
1. Losslosing Kseemed like a good deal at the time, but then turned out not to be. 
iv. Example 1
1. Ray v. Eurice Bros. 
a. Loss on K was a house worth $20,000 + incidental or consequential loss
b. He paid another $5,000 for a new contractor
c. Damages=25,000+5,000-20,000-0=$5,000
d. No loss avoided
v. Example 2
1. Eurice Bros v. Ray
a. Built a house for $18,000, so $2,000 profit for Eurice Bros.
b. Loss on the K because Ray did not pay them
i. 20,000+0-9,000-0=11,000
ii. 11,000-9,000=$2,000 profit
vi. Three limitations on this it must be:
1. Reasonably foreseeable
2. Provable with reasonable certainty
3. “duty” to mitigate damages
vii. Education Board v. Lukaszewski
1. Issues:
a. Was there a breach?
i. Yes
ii. Should Lukaszweski be excused due to illness?
1. Impracticabilitytoo hard to perform K
b. Damages? Did the board suffer any compensable damages?
i. Cost of obtaining other services plus foreseeable consequential damages
ii. Appellate ct—giving board damages would make it better off than it would have been had the K been performed.
2. Supreme Court
a. No, it wasn’t the boards choice to hire a more experienced person;
i. It was imposed on them
b. Mitigation requirement is satisfied here because the board hired the only qualified person they could find for the job.
viii. Parker v. 20th century Fox
1. Breach? Yes, should be entitled to $750,000/
2. General Rule:
a. Damages=salary agreed upon-amount earned or what reasonably might be earned. 
3. Reasonably?
a. Requires reasonable efforts
i. Did the court inquire into Parker’s efforts?
1. Court saysnot raised
b. Does not relate to reasonableness in rejecting an inferior offer
4. Holdings
a. No duty to mitigate if the second offer is different and inferior, so long as the difference is substantial (determined by the court)
b. No duty to mitigate if the employee subjectively but in good faith believes the offer to be different and inferior. 

